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[3] LA]
I (PART - I) '

1. Who propounded the  'Need
Hierarchy Theory' of Motivation ?

|1] Hull

2] Maslow
|3] Atkinson
4] Thomson

2. Which ' of the following is not a
projective technique of personality
assessment ?

[1] Word-association
[2] Sentence completion

[3] Expressive movement

4] Sociometry

3. Which of the following is mot an
‘ extrinsic motive ?
[1] STl % T OF uferagef AT | 1] Competing in sport for trophy
2] ¥ 3 R S . [2] Doing job for salary
_ [3] Doing social service for self-
[3] STCTHGIE & T H '

satisfaction
[4] Buy one get one free

[4] T T W T g% qET
4. UTaReE oTaary e faEat 3 ...

Thematic Apperception Test is used

L] 3‘3’ SYENT H AT Gﬂﬁ gl | lomeasurethe .......... of students.
[1] g - - [1] Intelligence

[2] oS [2] Aptitude

[3] SAT™g ' [3] Attitude

[4] o | [4] Personality
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75

Which of the following statement 1S
not correct with reference 10

adjustment ?
1] It creates imbalance.
[2] It motivates to change the life as
per the demand of the situation.
(3] It gives ability to bring desirable
changes in the conditions of
“environment.

[4] In the absencerof adjustment Onc
is surrounded by tension and
anxiety.

According to Piaget's - cognitive
development theory, the 'ability of
reverrsibility' develops during which
~developmental stage 7

1] Sensory motor

|2] Pre-operational

[3] Concrete-operational

4] Formal-operational

Which of the following match is not
correct ?

Erikson's Stages of  Serial

Psycho-social Number of
Development Stages

[1] Initiative Vs Guilt - Stage 3

12] Identity Vs Role - Stage 5

Conﬁision

[3] Autonomy Vs - Stage ]
Shame and Doubt

4] Industry Vs - Stage 4

Inferiority
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[5]
g, HlaRad d ¥ aét:r—tn ad ﬁaﬂt 7 8. Which of the following elements is

not related to Skinner's operant

[ A

conditioning theory ?

|

(1] Extinction
(2] Discrimination
i3] Spontaneous recovery

0 4] Reinforcement

9 Which of the following statement 1s

not correct with reference (o Attitude ?

[1] Attitude has motivational-
affective characteristics.

[2] Attitude can range strongly
positive to strongly negative.

3] Attitude have a subject-object

relationship.

* g 4] Attitude i1s innate and acquired

Bl &l both.

10. IR & 9 d9-91 &9 I 3 Which of the following statement is
g & I ¥ &l © ? correct about the development of

children 2

-
ot

[1] Development is a oroduct of

only hereditary.

[2] Development follows a random

process.

[4] Different aspects of development

are not interrelated.

. Tl
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[A] [6]

11. e & GO JH g IUE, Th I 11. ' Cattell's  culture free- test ‘of
JHR © , intelligence is a type of
(1] ik e GO [1] Individual Verbal Test
2] HE@EF M JIRTT I r 2] Group Verbal Test
[3] AMEH TLE0T l ' 3] Non-Verbal Test
[4] MSh T SeMTRd G H | [4] Verbal and Non-Verbal lest

12. ST & & - SERICERIRED I 12. Which of the following 1s notf a
IRt 727 ® 7 - I characteristic of creativity ?
[1] T (2] S " [1] Originality [2] Flexibility

[3] Rigidity  [4] Fluency

13. Which of the following factors does not

affect the teaching—learrling process ?
[1] Teaching skill of teacher

- [2] Mental health of teacher
[3] Subject knowledge of teacher

[4] Physical appearance of teacher

. 14. What kind of changes

- does growth
bring about in children 2 '
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16. FAHF Uomsar ¥ AEERdl H

TOF O SRR A HEfeTT e
I8 TR JHee ST § 7
[1] Mi¥=d siqa

PAREERE IR R
3] M= aﬁmﬁ

[1] T qeyor
(2] sife gy

[3] smfesss geror

[4] T¥oare qdeqor

ﬁﬂiﬁ%ﬁﬁﬁﬁ?—ﬁaﬁﬂam
P e Ay 7878 ?
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16.

[A]

What type of reinforcement schedule

is to reinforce each correct response of

the learner, in operant conditioning ?
(1] Fixed interval

2

1
[3] Fixed ratio
4]

Development

Variable interval

Continuous

proceeds ' in  the
direction of longitudinal axis (head
to foot)', called :

[1] Cephalic—Caudal

|2] Proximodistal

[3] Spiral

[4] Circular

A type of intelligence test in which
the questions are similar in difficulty

level but more Importance is given to
the time element -

1] Speed Test
[2] Power Test
[3] Verbal Test

[4] Performance Test

Which of the following is notr a

subjective method of persondllty
assessment ?

[1] Il'l_tervlew

[2] Observation
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22.

low in creativity

ent. This 1s an example o1 :

adjustm
(1] Inter ndividual Ditferences

(2] Intra Individual Difterences

[3] Observable Differences

(1] Inclusive curriculum
(2] Special curriculum

(3] Spiral curriculum

(4] Integrated curriculum

‘Who developed: the Socio-cultural

theory of development ?
1] Vygotsky

[2] Erikson

[3] Kohlberg

4] Bronienbrenner

What 1s the mechanism called.
through which a child tries to

change his own €20 10 that of
someone else ?

[1] Identification

[2] Rationalization

~13] Sublimation

[4] Projection
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[1] Hish 2] G
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[1] T 2] FrIR
[3] A 4] g9
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T - -
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[9]

24.

—_ﬂ

25.

.

[A]

lowing component

Wwhich of the fol
ford structurc

'« not the part of Gul

of Intellect model 7

(1] Operation 2] Cognition

(3] Content (4] Product

Who propounded “the Triarchic

theory of Intelligence ? .

[1] Gardner [2 ] Guilford

[3] Sternberg 4] Vernan

Family and School’ are the examples

- of which environmental system n

Bronfenbrenner's Bio-ecological

Model theory ?

[1] Macro system
[2] Micro system
[3] Exosystem
[4] Chromosystem

Which of the following pair 18 nof

correct ?
Theory Theory
Propeunder
[1] Piaget it COgnitivc
Development Theory

[ earning

2] Bandura — Social
Theory.

[3] Erikson - Psycho-socio
Development Theory
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[10 ]

e . ,. : jHp e, 1
o R § B A T GEEIN 28. Which of the following 1s nof th{c,
i i @ Qe 78] © 7 characteristic of a well-adjusted person 7

(1] 7Ol TS T grett & 9] A (1] Awareness of his own potentials
S IREESL and limitations
2] @F U@ qEU B T BT I . 2] Respecting himself and others
3] Sl ST ' (3] Balanced aspirations
(4] HIER " TR , ¥ . 4] Rigidity in behaviour
29. “HFRH wWEH Ut ok & T | 2e. "Mental - health is the full - and
AR WW HY Bl A W hrarmoniious ﬁmctioning of the whole
%l Q"b' g fhs B0 R TR ® 7 . personality." This definition of
' . mental health is given by whom ?
[1] AR i [1] Menninger
PARSRIE ‘ | (2] Hadfield
3] $ : . /[3] Drever
BLE e _ | 4] Waltin
30. TGS FRasmsen & § @ | ‘?_S_(L Out of the following Psychologists,
Teeweds ¥ HEf Tel & 7 l who 1s not related with Géstaltism y,
1] = | i [1] Kohler
2], i _ _ | [2] Koffka
ko > B [3] Kretschmer
(4] aEHT |

4] Wertheimer

Level-2/801
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[11]
AT - II (PART - II)
aqryr (R @@ sid+fl) [ LANGUAGES (HINDI & ENGLISH) ]
f@w) (HINDI)

ey« P e @ T 23 @ Y Fd e A 9

31, W#ﬁﬁwﬁﬁﬁ%ﬂﬂﬁq:

o ~ gy
1] @Y & Rrgar § - SRS 1] % :
I B [0 BT RS qreTt
[2] 9T BT W GET & - TS . 3] T ot i
9 ERI ' E3 EE_IH( " BRHEIii
[31 TEATT Tk I Rl Gel. W & 35. “qg MU HWEwd ©l” e H ggH
- fes B | e’ 9= ® H9-H1 G B 7
[4] sofrer SR-SIR-Q &1 @& § - -] ST
_ - wHS fEr . [2] e
&aﬂwaﬁgﬁa@f‘ﬂ’aﬁ#aﬁ J b ',
= fIRTa € 4] SAfRTaTE
[I]W,m,w 36. ‘ORI’ I & WY ¥
2] %5, @, s o o [1] wEle
3] %34, TEIY, ST AR R
[4] HTd, STEN, STEIHTOT - : i
- - 4
33. ‘ArETERer 9% & Hel diy-faweg ® T
1] @ + SR , %Wﬁﬁammgﬁn:
121 |19 + SR S
2 :
[3] |Y + SrET l_]a:n% e
il | 3-eTiawtg - ferdrsga
18 [4] SN - o

' Level-2/801 ' P. T.0.
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[A]
38, ‘Frier g & e G E 7
(1} & @ 49y
2] 7T @) G
[3] I @) HiY
[4] SS9 €Y
39. ‘REmar # 9ds Tl @
[1] Sk ‘
[2] ST
[3] arar
4 =BT
40. 9 ey H SiHEES fAQEer @@
SART B3 B 7
3 ~ BT & 7
[I]Wjﬁﬁsﬁr@ﬁW| A 1] ST
[2]Wﬁa%%r@wn 2] S
(31 U°Tg qredt e # ggdr B 3] sER
4] J°T9 % €Y FB T T @ © 4] ST
T b e % g ot (0 T 30w ot a3
sk AR M TEq 9=t § '
[1] JoydrEs ol R
P 3] o w3
[3] Ms=garEs > y
4] ST 4 S wh o= :

Level-2/801
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[13]

37051t (ENGLISH)
riate option.

Direction : Answer the following questions by selecting the most appropriart =i7=""

50. Choose the option that brings out the
meaning of the underline 1diom :

A lion's share of India’s annual
‘budget is for defence.

[1] major share

46. Select the appropriate one word
substitution for the following :

Former students of a school or college
|1] Emblem 2] Alumni

31 ‘Expert 4] Inch
3] Exper [ FRITIE [2] minor amount
41. Change the Narration [3] small

"I'm taking the children to the [4] very little
z0o tomorrow." She said. ' '

[1] She told that she would be - 91. Select the correct antenym of :
taking the children to the zoo the ‘ Gloomy
day after

[1] Praise I |2] Coarse

2] She said that she will take the i _
- [3] (Cheertul o [4]:Dismal

children to the zoo the next day

[3] She told that she will be taking 52. Choose the appropriate conjunction
the children to the zoo _ forithe blank: - '
4] She will take the children to the | I
[4] Sl s el S | shall th SOt iR . I am invited.
[¥] and |2] unless
48. (Choose the correct synonym of : 53T Bt [ATithero. |
Genius o A
93. Change the narration to R
1 H eported
[1] Happy Speech Choose the right option :
[2] Cheertul . | "Who has been using my
3] Talented Ty fis - | typewrlter ?" Said Molher

/[1] Mother asked who has been

[4] Comfort using her typewriter

49. Select the appropriate preposition for ' ~ [2] Mother said who was using her
VvV | :
the blank : | typewriter
He has not yet recovered .......... his -~ [3] Mother asked who had been
illness. using her typewriter
[1] over . 2] 1n - [4] Mother asked her typewrlter was
(3] at (4] from being used by who

. Level-2/801
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[A) [14 ]
.. : sg. Change the voice from AcuVe to
54, Qelect the correct meaning of the ~ passive and select the correct oplion
underlined phrasal verb :
- ake honcy
Who can say what will turn up nex ? Bees mj‘lk o
[1] remember [1] Honey 15 make by bec
2] divide 2] Becs are making honey
(3] end ' (3] Honey ar¢ made by bees
[4] happen 4] Honey is made by bees
' j ect the
55. Choose the part of sentence that has 59. (Change th-c voIce and selec
eITor : | correct option :
she does not/ resemble to/ either of/ ’ Somebody has put out the light.
i B Ciig (1] The light has put out by
her parents somebody .
D [2] The light has been put out by
[1] A [2]: B somebody
(314 (4] D | (3] Somebody has been out to put
| * light .
56. - | W s
56. CS);iie(;:Itl Sﬂlgle-vitl)lr{'ect tepse form ﬁqm the A A 00 T
| somebod ' .
When 1 first (come) to this house, it & !
(beya/ ey QUICE atedy ' 60. Select the correct preposition for the
[1] comes, 1S blank :
[2] came, was I'shallado 1ticc.. pleasure.
[3] coming, 1S [1] in
[4] come, are 2] with
[3] about

57. Select the correct tense form from the
options given : [4] over

Peter (try) to come in quietly but his
mother (hear) him.

(1] tried, heard
[2] trying, hears

(3] was trying, was hearing .

(4] is trying, hears | |

Level-2/801
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[15] [ A ]

HT - III (PART — III)
HHN AYYT (GENERAL STUDIES)

A A, A% SRwar qon A S o SR (QUANTITATIVE APTITUDE,
REASONING ABILITY AND G.K. & AWARENESS)

ﬁéyr:ﬁwﬁf@amﬁzﬁaﬁ?ﬁ%‘ﬁqwﬁaﬂm@ww/

Direction : Answer the following questions by selecting the most appropriate option.

6l. N9 UHR qeg] T 3787 § B 61. Earth 1s relﬁted to Axis in the same
RIS EOE Ued G BT way as wheel is related to :
[1] T™=R | - | [1] Tyre
2] B ¥ | [2] Car
3] 9% ¥ ' [3] Road
[ﬁ] SRURS) , 4] Hub
62. STME o JIT & 9=y 2§ gl el 62. Anil introduces Prashant, "He is the
‘v N R Rar & Q) LA husband of the grand daughter of the
_%”l JAMT AN ¥ 59 v LIRS father of my father" How is
g7 Prashant related to Anjil ?
(1] «1g ‘ 1] Brother
[2] Sitem 2] Brother in Jaw
[3] ST | [3] Nephew
4] 9A ' 4] Son
63. AT & TR .
S 3 5 e RICE O ST w® & 63. Four groups of letters are given
B T F o 3] below, three of th like i
QEBQ“@[GWFT%,G'H Lo v, - them are alike in
. ke BITCY : cCrtain way while one is different,
choose the odd one
2] RQFA 2] RQPA
3] MLKA 3] MLKA
4] HGEA [4] HGFA

LEVEI-Z/ 801 PT.0O
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6
i [ll | 64, Find the next term 10 the following
g, e o N it i letter SEr1es
HINTT (XF. MT, NPN, LR e
[ XF. MTJ, NPN, OLR, .......
1] PHV (1] PHV
2] PIU (2] PIU
3] PIW 3] PIJW
(4] PKX “C [4] PKX
65. [Har WiEd % § 786" @AY ’ 65. In a certain code 786' means 'Study
Study very hard', '958' &I ¥ 'Hard | very hard', '958' means 'Hard work
work pays', '645' & 3% 'Study and | pays', '645' means 'Study and work’,
work!, @ 'very' &l HIS H BRTT 7 | which is the code for 'very' ?
(1] & ) (1] 8
2] 6 _ k-
317 i 317
[4] 5 o G L B
66. T A, B H 40 et ey fr ¢ 86. I Ais 40 meter South-West of B, C
3, C,B & 40 AT AROLT A& | s 40 meter South-Eagt of R e

arC, A g g & # = ? l

1S 1n which direction of A 9

(1] ©@ ' | [1] ‘East

(2] qf¥e™ | (2] West

(3} ST-3 l (3] North-East
4] EfRoT | (4] South

Level-2/801
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[17]

&ISOWWWWW3S
§ gk =H ¥ Il e @
AqEd Wi 39 B T A
fqenfal & A9 Wi 15 @, o
T # SO BN o faerlRir @
&1 §d iU '
1] 120

131 135

21 125
14] 140

68. AT o =b,b" =¢c I cf=qg . A
xyz 6l HIF 1 BRT 7

1] abc (211
3] ;5; (4] ab

0. o BE A B ot EPT Sie I
HIoT ST 4, 5, 6, 15w18%gﬂh

faeioTg &
(1] 800 21225
131 900 (4] 361

10.

l
7 25

1
2 sy
ST
A

T

i 1
625
Level-2/801

4]

(R0 (R e 5

1

[ A]
67. The average marks obtained by 150
candidates was 35. If the average
marks of passed candidates was 39
and that of the failed candidate was
15, find the number of candidates
who passed the examination :
[1] 120 [2]- 125
Faled3s (4] 140
- 68. [f Clx- :b,by = C .and CE — Ho om then
what is the value of xyz ?
[1] abe 2] 1
_1 ‘
(& Fsrh 4] ab
| abc
69. Find the smallest perfect square
number which is exactly divisible by
4,5,6,15and 18 :
[1] 800 1217295
(3] 900 (4] 361
10. What is the value of

(ﬁ)—5/2 x(ﬁ)-3/2 ;
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[A] [18 ]
he g9 THaRE o B X ¥ 15 ¥ | 71. A sum of money doubles itself in 15
¥ T & o e ast g years at compound interest. In how
S 9 Y T Y R T8 S 7 many years it will become 8 times at
l the same compound interest rate /i
[1] 30 3y [1] 30 years
2] 40 3y | [2] 40 years
[3] 60 @9 _ [3] 60 years
[4] 45 Ty | [4] 45 years
72. 3§ 25 AT Rl HEd B 60 [RST 72. It 25 men can reap a crop in 60 d
R s | p P ays,
SCTy , 10 e I Y then in how many davys will 10
= ot y day men
e FHIE Fhil 7 . \ reap the crop ?
1] 125 R | [1] 125 days
2] 92 RRF - i[2] 592 idaye
[é] 100 13 ! [3] 100 days
[4] 150 &= [4] 150 days
1 1 :
73, A x4 =5 .7 1
T B ? ' 3.3 4
OFi% rigee=9
| Xt
[ 1% 325 12} 110 | flel i 125 120990
(3] 115 (4] 105 | 13} 115 (4] 105
74. | [ ] -
4. E’Tn‘;f ?G‘lﬁ FEAl bl SRAT T [T 74. Find the n§xt term in the following
: number series -
2: 75 249 773 238: """" 1 29 73 243 77-,- 238 ........
[1] 721 [21. 722 [ X 721 [21 722
(3] 723 [9] 133 (3]-923 (4] 733



4 - e =N e . b !-"'I'F: '-'I_-;‘* '--‘l.“"'
R o SRR SRR ot
| |

B S, @ D 6w @ uRed ahs
T HIfT

[1] 50%
12] 100%
3] 125%
4] 150%
77. IR —H W x, + H; W™+, + 7 FF +,

XH I -8 A 15-5=5%x20+ 10
& 9 =1 B 7

(1] 70
(2] 78
3] 73
[4] 73

78. fBel @&y # 72,000 TR ¥ ¥ W
el &R @l 20% 1 & B ®, o

39 %] H P I 1 91 ¢

1] 60,000 Fo
2] 50,000 o
3] 40,000 Fo
4] 65,000 %o

Level-2/801
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75.  Find the value of :

2] 10

(1] &

(3] 11 [4] 4

76. AR T H TAF IS H 50% gi& ‘ 76. If each side of the square be

increased by 50%, then find the

percentage increase in the area :
(1] 50%

12] 100%

131 125%

[4] 150%

17. If xstands for —, =+ stands for +, + stands

for +, — stands for x, then what is
the value of 15-5+5 %20+ 10 ?

[ 1] 70
12] 78
25
4] 73

18. By selling a commodity for

Rs. 72,000, a person made a profit of

- 20%. What was the cost price of that
commodity ?

[1] Rs. 60,000
[2] Rs. 50,000
[3] Rs. 40,000
[4] Rs. 65,000
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[A] ! [ 20 ]
79. N9 g@ar | PA-T1 U& TATE ! 79. Which# term  1s ‘wrong 11} the
following series /
8, 13, 21, 32, 47, 63, 83 ‘ 8, 13,21, 32,47, 63, 83
(1] 13 [1] 13
[2¥ 32 | aigr
(3] 47 [3] 47
(4] 63 (4] 63
|
80. T% 3 9 |l ‘g@} W | T 9 | 80. A solid cube is coloured red on all
T 71 81 39 39 64 Bic T § ey faces. It is cut into 64 smaller cubes
g, U8 R Eﬁ% g B e I of equal size. How many small cubes
FE TS M goT et Bl 7 , have no face coloured ?
1] 24 - [1] 24
2] 16 _ 2] 16
3] 8 (3] 8
(4] 4 ; 4] 4
8l. :3 Wﬁ;ﬂ_{iﬁ'ﬁ%l CIRIERIE] A =M 81. _The place, which was visited and
qq S T © mentioned by Chinese traveller Yuan
Chwang : ‘
1) ST |1] Agroha
2] g [2] Sugh
3 3@‘6@3 _
3] ‘ 3] Kurukshetra
A |
[4] AT ' [4] Panipat
82. T8 oI, & SdmEe
QT ST B 82. lhe district, where Dolomite is found
[1] 7esems 11 M
e ahendragarh
: | 2] Gurugram
EIRZEEE " ,
[3] Faridabad
[4] QT |
[4] Panipat

Level-2/801
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[A]
[21]
83 ERATT AR &l g QT & g8d g3. Under which schemc 'Of Haryar}a
g gﬁ‘ﬂTUIT % HHT q-ﬁa-l—a- ehl | S (I()Vcrnmen'[ the SOC10-€CONOIIC
qrETTE-3TS 8¢ AR R o1 T@ 1ata of all the families of Haryana is
3.5 being created 7
L | ivar Utthan Yojna
. [1] 3T WRAR I A ‘ 1] Antyoday Partv
F 2] IRAR UESN U A (2] Parivar Pehchan Patra Yojna
3] ﬂ'@q‘:ﬁﬁ IRAR TS ST (3] Mukhyamantrl Parivar Samriddhi
l Yojna
l [4] ST STER AT f (4] Jan Aadhar Yojna

84. BN & TEEar U et # 84. Percentage of posts which have been
Aiearet % AT Ry @ T el & | reserved for women in Panchayati

TS ® Raj Institutions of Haryana :
1] 25% 2] 33% . 11] 25% 2] 33%
3] 66% (4] 50% ‘ 3] 66% (4] 50%
. ' |
85. g8 [oram, el qeql X saem H 85. The district, where first time In
S-S @R fopm T B - Haryana  E-challan has  been
| introduced : |
|1} ToAH 2] ‘Tﬂ@"“ - [1] Gurugram' 2] Panchkula
3] AR 4] Ve - H [3] Hisar [4] Rohtak
86. “aigw fqer Meige’ faspfe [Har o i 86. 'Global City Project’ is being
E T $in developed by :
[1] Tdo T¥Oo Mo g0 Slo ﬁTO; ' [1] HSIIDC, Govt. of Haryana
2] sfio o Flo To, BRATT HHT | 2] GMDA, Govt. of Haryana
[3] Q0 go Yo, FATM HIHX [3] HUDA,.Govt. of Haryana
4] g foeprd HAE, HIX HIDN [4] Ministry of Urban Development,
an | Govt. of India

Level-2/801 P.T.O.
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(A [ 22 ]

817. o z,wq o e SRS @ R coach for excellence 1n coaching by
ST B the Haryana State :
NEREREEES 1] Dronacharya award
2] & s 3Tare | [2] Guru Vashistha award
(3] HerUom "™ S ‘ [3] Maharana Pratap award
[4] ST} 37are ‘ [4] Arjuna award

88. BBl bl 3R § BRAMT & ¥R ¥ |  88. The position of Haryana in India in .
& B _ | respect of area 1S : '
(1] 11aT | | (1] 11th
2] 214 2] 21st
3) 154 3] 15th
4] 184 . [4] 18th

89. &IAGW I g | YTH g9 g |  89. The smallest (in term of :ﬁrca) wild
TWRTE | life sanctuary is : '
[1] TSy | (1] Bhindawas
7] e 2] Nahar
[3] & | 3] Saraswati
[4] TS [4] Chhilchhila

Q.Q"' gﬁ’ql'”ﬂ T RIS k% ﬁ&lﬁ 39 90. The 'de jure head of the State

' ' Administration in Haryana is -
(1] T & A [1] Chief Minister of the e
ii HWIT i [2] Divisional Commissioner
59 & Hellgde

3] Advocate General of the State

4] TG B TUIA
(4] 4] Governor of the State

s T T S
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